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(BEFRING )
(- = RN 44 52 96 28.8 67.2 N1
eI T BHR 51 48 99 31.2 67.8 ANE
3L 4 A=) 49 48 97 28.8 68.2 N1
4 IV 38 41 79 9.6 69.4 ANE
5z KK AE 47 42 89 19.2 69.8 N1
6 i 1] A 45 47 92 21.6 70.4
7 AR EEF 41 37 78 72 70.8 N1
8 fir HR — B 44 46 90 192 70.8
9 fi g Hi 47 41 88 16.8 712
10 fi7 e H: 35 34 69 24 714 ANE
11 {7 Tl 1 41 40 81 9.6 714
12 7 R EHH 47 46 93 21.6 714
13 {2 AH 5 44 42 86 144 71.6
14 7 G = 41 38 79 72 71.8
15 {7 HE Juz 45 39 84 12.0 72.0
16 fiZ SEe g 46 38 84 12.0 72.0
17 7 AFH: BER 41 43 84 12.0 72.0
18 fi2 s EL 39 38 77 4.8 722
19 i1 /D S R V= 47 42 89 16.8 722
20 fir JEGB 75 49 45 94 21.6 724 TRE
21§z HIE VDA 43 44 87 144 72.6 B
22 fif WNH F1T 51 48 99 26.4 72.6
23 fir WH Jt 51 48 99 26.4 72.6
24 fir TH 7K fii 5 42 38 80 72 72.8
25 fif A i 44 41 85 12.0 73.0
26 fif AL 1R 47 50 97 24.0 73.0
27 fir [ L e 49 53 102 28.8 732
28 fif At A 49 53 102 28.8 73.2 o HEE I
29 fir ey Bl — 47 53 100 26.4 73.6
30 iz HH e 2208 50 50 100 264 73.6 TRE
31 fiz R iz 51 49 100 26.4 73.6
32 fif [ BRSES 46 47 93 19.2 73.8
33 fir Hh 21 48 45 93 19.2 73.8
34 fir BNl IR 48 45 93 192 73.8
35 fir W BHE 51 42 93 19.2 73.8
36 fir RAR HR 44 42 86 12.0 74.0
37 iz 151 SO 50 48 98 24.0 74.0
38 fiz Ly SH S 48 50 98 24.0 74.0
39 fiz /INEL BATT 39 40 79 4.8 742
40 7 ALkt £2 46 38 84 9.6 74 4 TRE
41 i1 ANIIR 2 55 53 108 33.6 744
42 iz 5 HAT 44 45 89 144 74.6
43 iz JIF R 48 41 89 144 74.6
44 fif N JlfT 51 50 101 264 74.6
45 i1 = 57 47 104 28.8 752
46 iz )1l FBR 51 53 104 28.8 752
47 iz A8 BX 46 39 85 9.6 754
48 fr BN 2R 46 51 97 21.6 754
49 fir IR 47 43 90 14.4 75.6 2307
50 fif L= 44 46 90 144 75.6 TRE
51 47 /N BH 51 51 102 26.4 75.6
52 {7 T &R 54 53 107 31.2 75.8
53 fir IR F ] 36 40 76 0 76.0
54 i1 K B 44 44 88 12.0 76.0
55 fir mH: ek 55 45 100 24.0 76.0
56 fir Patl =25 59 53 112 36.0 76.0
57 L 5e JiH 50 43 93 16.8 76.2
58 fir K%y B 48 45 93 16.8 76.2
59 fir HHE B Z 47 46 93 16.8 76.2
60 17 T £k 44 42 86 9.6 76.4 TRE
61 iz N 43 43 86 9.6 76.4
62 i 5 iy AL 48 50 98 21.6 76.4
63 fir MRE hr3e 44 40 84 72 76.8
64 i1 Kk 40 44 84 72 76.8
65 i1 /IR 2R 50 46 96 192 76.8
66 117 FEAR —11 57 51 108 31.2 76.8
67 Hh s ATHI 50 51 101 24.0 77.0
68 i1 HAK —& 50 51 101 24.0 77.0
69 fir el = 49 45 94 16.8 77.2
70 7 i EE 1 e 47 47 94 16.8 77.2 TRE
71 6% AR ¥ 49 45 94 16.8 77.2
72 1 A R 45 42 87 9.6 774
73 fir feRg W 44 41 85 72 77.8
74 f ELGH R ] RR 46 44 90 12.0 78.0
75 L WA PR 46 44 90 12.0 78.0
76 {1 1k Bl 52 50 102 24.0 78.0
77 7 At B 48 47 95 16.8 78.2
78 1 H B B 47 48 95 16.8 78.2
79 L Gt 49 46 95 16.8 78.2
80 iz AR fZHH 49 51 100 21.6 784 TRE
81 iz B R= 49 44 93 14 4 78.6
82 fir KE IE— 46 47 93 144 78.6
83 iz TR B 50 55 105 26.4 78.6
84 fiz M FIAI 53 45 98 192 78.8
85 iz v B ] 50 48 98 192 78.8
86 fir g H: 48 50 98 192 78.8
87 {ir L 54 56 110 31.2 78.8
88 fir HeH: FEX 54 56 110 31.2 78.8
89 iz i H A1 49 54 103 24.0 79.0
90 fir IR 2R 58 57 115 36.0 79.0 TRE
91 fiz HRS A~ HY 56 52 108 28.8 79.2
92 fir ik P+ 57 51 108 28.8 79.2
93 fir BRI 43 46 89 9.6 79.4
94 fir ek A 53 48 101 21.6 79.4
95 fiz s vk 58 55 113 33.6 79.4
96 fir FH: W 48 46 94 144 79.6
97 fiz HR TE A 48 44 92 12.0 80.0
98 fir i 1E 52 52 104 24.0 80.0
99 fiz g 3T 52 50 102 21.6 80.4
100 17 T N 48 47 95 144 80.6 TRE
101 fiz AH #ED 57 50 107 26.4 80.6
102 fiz HLE 51 56 107 26.4 80.6
103 {7 MG AET 52 46 98 16.8 812
104 fiz /INH HEEERR 53 45 98 16.8 81.2
105 fiz /N BT 46 45 91 9.6 81.4
106 fi. el B 44 47 91 9.6 81.4
107 fiz Bl B+ 52 44 96 14 4 81.6
108 fiz BABR 61 57 118 36.4 81.6
109 fiz HH 44— 49 45 94 120 82.0
110 7 ANRITTIN 47 47 94 12.0 82.0 RE
111 {7 e % R IiG 48 51 99 16.8 82.2
112 {7 R == 56 55 111 28.8 82.2
113 fif AR B 45 47 92 9.6 82.4
114 {7 /NG A 47 45 92 9.6 82.4
115 {7 HEI & 55 49 104 21.6 82.4
116 fif Brf B 3 — 46 44 90 72 82.8
117 fiL Bl Az 50 57 107 24.0 83.0
118 7 i B JEA] 43 50 93 9.6 83.4
119 £z ey B 53 45 98 144 83.6
120 fi7 P T 63 47 110 26.4 83.6 RE
121 7 TN 60 60 120 36.0 84.0
122 f7 = /= e 50 44 94 9.6 84.4
123 {7 FH 1EA 55 47 102 16.8 85.2
124 7 e 8 A7 54 53 107 21.6 85.4
125 fir W B 55 52 107 21.6 85.4
126 17 AR EA 56 51 107 21.6 85.4
127 fiz Lk A 1= 50 57 107 21.6 85.4
128 {7 /NEK T — 61 61 122 36.4 85.6
129 {7 R FX 49 49 98 12.0 86.0
130 7 e ek 49 40 89 24 86.6 RE
131 fif W X 59 52 111 240 87.0
132 fir KK H 7% 53 51 104 16.8 87.2
133 fif AR S 53 51 104 16.8 8722
134 fir PR SCA 55 54 109 21.6 87.4
135 {7 KB H55 52 50 102 144 87.6
136 17 SR 52 46 98 72 90.8
137 fiz s iR 57 53 110 192 90.8
138 fir H BT 62 64 126 33.6 92 .4
139 £ AR —EE 62 67 129 36.0 93.0
140 7 PR BT 75 69 144 404 103.6 BBH

141 £z HE® 71 83 154 36.4 117.6




